Autumn Test 3

1 |59%X1= 2| 1= +0.3

3| 102= q | 700 X 4=

5 = 81 6 | 50 X100 =

9| o++= 10 | 640 = 6400 +

o

2 %ofzsz 12 = 53
13| 134+ 100 = 14 | 4016 — 1238 =
2, 7 _ _
15| 2+ 4= 16 — 68.2 X 1000

U U
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Autumn Test 3 (continued)

17 | 2 of14= 18 | 8 x = 240
19| 64368 20| 5 of 50 =
378
21 605 — =319 22 % 25 (2 marks)
6925
23 % 4 24 97518
25 | 2690 = X5 26 =986173 — 76328
796
. _ (2 marks)
27 - 3= 2463 28|, 43
\
Total marks /30
J
How well did you do? | +with correct place value | 26
Colour the numbers of the — with zeros 14 | 21
queshons you gOt correct. + or x by 10, 100 or 1000 6110]113]16
Long x 22 | 28
Fractions 719N |15(17]20
Missing numbers 215181011821 ]25]|27
+ 9115
- 21711412126
X 11314168 |M|12]16(17(20(22|23|27]28
+ 511011 )113]|17(18(19]20(24]|25
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